A/ AR

Pourcentages de nombres ( nombre manquant )

x40% = 8
x20% =17

x 30% =23.4
x70% =14
x 10% = 5.6
x 40% = 8

x 20% = 20
x30% =24
x 90% = 42.3
x 30% = 27.6
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Date:

x 40% = 37.6
x 60% = 16.8
x 60% = 4.2
x 80% = 64

x 90% = 2.7
x 90% = 71.1
x 20% = 4

x 60% = 22.8
x 80% = 20

x 90% = 2.7

Note:
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Nom: Date: Note:
20 x40% = 8 94 x 40% = 37.6
35x20% =717 28 x 60% = 16.8
78 X 30% = 23.4 7x60% = 4.2
2x70%=1.4 80 x 80% = 64
56 x 10% = 5.6 3 x90% = 2.7
20 x40% = 8 79 x 90% = T71.1
100 x 20% = 20 20x20% =4
8x30% =24 38 x 60% = 22.8
47 x 90% = 42.3 25 x 80% = 20
92 x 30% = 27.6 3 x90% = 2.7
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